Indices

Definition

2x2=2° 2x2x2=2° 2x2x2x2x2=2°

Multiplication

22x 28 =2x2x2x2x2=2° and 2°x2° =2x2x2x2x2x2x2x2=2"

So,the multiplication ruleis adding indices
Forexample, 2°x 2% =2°"*=2° and 2°x2°=2%°=28

Division

2% .07 =

2X2X2Xx2%x2x2x2x2 B

2><2><2:2’ 25+23:2><2><2><2><2:22 and 2° =25 —
2x2 2x2x%x2 2x2x2%x2x%x2
So, thedivision ruleis subtracting indices

Forexample, 2° +22=22=2,  2°+2°=2"°=2° and 2°+2°=2%°=2°

Work out the following :
(@) 2'x2%  (b) 2°x2° (c) 2°x2* (d) 2®x2" () 2®x2"

(f) 210 +25 (g) 213 +27 (h) 229 ><215 (|) 232 +216 (J) 264 +248

2°x2° 2" x 2" 2% 23 2° 2'x2°

I m n — (0) ———
2° ()28><23 ()22><25><24 ()210 ()28><25

(k)

1

(p) (3)* (@ &) () T) () (x)° [X1T+[X3j (u) (2n3j +8n°

W) a® w2  (x)If2*=16 find x. (y) It (2) (27)5

Extension: (i) %z 2* (i) 2°'=16 Find a&cintheextension part
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